
 

Class-4 

Subject-Mathematics 

Chapter-9 (Decimals) 

Lecture – 7 (Solution) 

1. Do subtraction: 

a) 4.80 – 3.59 = 1.21                         

 b) 4 – 2.31 = 1.69                           

 c) 3.75 – 0.5 = 3.25    

d) 7.58 – 6.87 = 0.71                          

e) 25 – 12.5 = 12.5                         

f) 459.2 – 26.897 = 432.303   

g) 5.4068 – 0.359 = 5.0478                   

h) 7.36 - 2.36 = 5                        

i) 79.503 – 23 = 56.503 

j) 3.069 – 0.4210 = 2.648 

 

2. Do vertical subtraction: 

a) 5.47           b) 8.26          c) 4.00           d) 7.652         e) 5.38       f) 8.65 

  -3.25              - 3.40             -2.25              -6.648           -2.19         - 0.70 

   2.22                4.86               1.75               1.004            3.19           7.95 

 



g) 7.20            h) 9.00               i) 1.467           j) 234.9094        

  - 5.37               -0.42                 -0.397             -028.5000 

    1.83                8.58                   1.070              206.4094 

 

 


